>
E 0l & Ak H Al A
20138 & =0llat LBl A A ~ ZHEdsE
N IHELEE
Ha: NAZHEASH (MY -5 MUTE - DT )
SRl HeHAEEZ NS cet )
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ZHEHSE 6,691,071 7,092,183 A401,112
= 748,224
& 1,200,000
J| 131,431
& 157,611
< 707,529
Al 3,746,276
ANABHEBLS (MY - B2 dE DS 3,952,113 4,679,148 AT27,035
& 1,200,000
< 151,603
Al 2,600,510
e Al ESHEIHA 2,447,680 1,917,580 530, 100
& 1,200,000
= 110,000
Al 1,137,680
SEANFIMNY 35,800 41,700 25,900
201 Let249] 20,200 21,700 A 1,500
02 =24l 20,200 20,200 0
OZS&EANZE HIIg 20,200
— A5A 300,000& = 123 3,600
—JIH=2E 700,000 = 12& 8,400
— HIJHE JHIHIDI 200,000& = 123 2,400
—Bos 400,000 = 12& 4,800
—3EAMNE E3N = 500,000& * 23l 1,000
301 et a3z 600 0 600
12 JIE24 3 600 0 600
OSHANE ZAIA HNE 2R =S
50,000& = 12& 600
401 A& HIZ 201 8] 15,000 20,000 A5,000
01 A& HI 15,000 20,000 A5,000
OSEANEFESS0IE NE=(Hord, A8,
FXHEHS) 15,000,000 * 14 15,000
JIEtAI B A 44,880 205,880 A 161,000
201 L4l 8,880 8,880 0
02 =224l 8,880 8,880 0
O3 SLANE ¥ B2R= 1,680
— &I 23 70,000& « 123 840
— 5t 23 70,000 * 123 840
OFst2ZEANE 232 232R= 7,200
—dIRe3 500,000& = 12& 6,000
— 4ot R=3 100,000& * 122 1,200
401 AIEHI L 2 0] 36,000 97,000 A 61,000




SN 2HESE

M XAIRELSH MY - BAIY/MHTE - DE3})
S HeHAIZEESZ A (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 36,000 97,000 261,000
ONEANE SS0ENE RAES
3,000,000& * 1200 A 36,000
e AIZAIESUSH=) 2,000,000 0 2,000,000
& 1,200,000
Al 800,000
401 A& HIZ 201 Y] 2,000,000 0 2,000,000
& 1,200,000
Al 800,000
01 A& HI 2,000,000 0 2,000,000
OSEAE OH0IE EXAY
2,000,000,000& * 14l 2,000,000
& 1,200,000
Al 800,000
THeHAIE 52 & SHAIE (%) 367,000 0 367,000
< 110,000
Al 257,000
401 Al HIZ 201 I 367,000 0 367,000
S 110,000
Al 257,000
01 A& HI 367,000 0 367,000
O==SANZE SZMLAY  167,000,0008 * 1A 167,000
< 50,000
Al 117,000
OSHANE =XEH A2
200,000,000& = 14 200,000
= 60,000
Al 140,000
THeHATE & XA &4 3t 13,360 13,360 0
ZENH & THeHAIE 2435t 13,360 13,360 0
201 LBt 5,000 5,000 0
01 At 22l 5,000 5,000 0
OdNch ZMNEE & dSANY 2dst 228
c¢sol 100& = 5,00004 * 28 23| 2,000
OFSANE 018 228 EEI 8§ MH
500& = 6,0000H 3,000
203 R =&t 5,000 5,000 0
03 AI®F=XH R =AY 5,000 5,000 0
ONAAM 283 257
5,000,000& * 14 5,000
301 L2 A= 3,360 3,360 0
10 #AtAHIZ &3 3,360 3,360 0
OFESANZE 43 &&sl, /3y, E83 &
& 0,000& = 6H * 2& * 43 3,360




2N ZHESEE
Ha: NAAMBLSHAY - SLIL/MHT

MAXE . DES)
CHR: A ENEE (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
AHe EMEH 111,373 57,977 53,396
& 13,603
Al 97,770
=222 33,030 30,720 2,310
201 LBt ]| 18,630 16,320 2,310
01 AP 22| H| 18,630 16,320 2,310
OSENE Y4 13,600
— A= H| 250,000& = 132 3,250
— HASEH| 450,000& * 23A 10,350
OS2ttty 22| 900
—E89349 60,000 * 5JHA + 23] 600
— 2ROl 100& * 1,0000H = 33| 300
OSIHHHRRS L ALAAS FHLY
70,000& = 13¥ = 33 2,730
OREAMUMEls A 4o
70,000 * 10¥ = 23 1,400
301 et A= 14,400 14,400 0
12 J|EtE A= 14,400 14,400 0
O2J2LIH & =%
50,000& * 8Y x 36=F 14,400
SHHl A OH el 22| 3,000 3,000 0
307 QI2t0| & 3,000 3,000 0
05 QI2t2E = 3,000 3,000 0
OZHHE Rl XA ZAISE SR HEAFS HI
3,000,000 = 14! 3,000
2HIRES 10,000 10,000 0
307 gizto| A 10,000 10,000 0
02 QI2tA A X 10,000 10,000 0
OadlAags 294 N3
10,000,000& * 14! 10,000
SO BHAATA (L) 45,343 14,257 31,086
& 13,603
Al 31,740
206 M = Hl 45,343 0 45,343
& 13,603
Al 31,740
01 X2 H| 45,343 0 45,343
OS8Itetd 2EHA AL XA
453,430 * 504 = 23] 45,343
& 13,603
Al 31,740
X=X A THAHE = 20,000 0 20,000




SN BHELSY
3 NSZHELS (MY - BAING/MNHIE - DT
el Al mAEEY (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
307 glz2tol & 20,000 0 20,000
02 Ql2tFAE X 20,000 0 20,000
OXGXIATHA SEEE ALY
20,000,000& * 14l 20,000
gsd & N& 1,334,300 2,635,831 A 1,301,531
< 18,000
Al 1,316,300
S0l s4X3 1,114,500 2,330,031 A 1,215,531
201 £B-2dH| 11,000 14,600 A 3,600
01 At 22l 11,000 14,600 A 3,600
OR+=2J|d4 &I MZ  200,000& * 54 1,000
Of+=22J|Y HMSEE & JH0E=S MH
10,000& = 1,0000H 10,000
306 EH3 51,000 60,231 A9,231
01 &3 51,000 60,231 A9,231
OBANSCUEBEXE 48 JSWMELRS
= 51,000,000& * 13l 51,000
307 glz2+0ol & 970,000 970,000 0
02 QI2tFAB X 70,000 70,000 0
OJlgoiz SeXddy 29 N
15,000,000& * 13l 15,000
OFgESHMH 2d4 N&
30,000,000& * 14l 30,000
OGFAIIIAEE LEEEBANLE 2T
15,000,000& * 13l 15,000
OgRKY Jsed(AX)28duns N
10,000,000& * 13l 10,000
08 OIXtEHE 3 900,000 900,000 0
Os2JlY 28 A= 0XMHEHS K= 900,000
— 20114 otBHIIZ 9,000,000,000& * 5% 450,000
— 20128 &BHI|2 9,000,000,000& * 5% 450,000
308 XtXIEHH SOl A 67,500 70,200 22,700
05 HXSHHM2AURE S 67,500 70,200 22,700
O U ZWAVSANY I8 232
67,500,000& = 14 67,500
402 RI2EXt20l ™ 15,000 1,215,000 A 1,200,000
01 RIZEAI2EX 15,000 1,215,000 A 1,200,000
Os201Y aHCIAR XA
15,000,000& * 14 15,000
SIeAEL 5 177,800 202,800 A 25,000
201 LBt2E | 30,000 35,000 25,000
01 At 22l 30,000 35,000 25,000
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
Oo8Jlea g2 gl 1,000& = 5,00004 5,000
ONHSHE BYIZ 22 AB2
25,000,000& * 14 25,000
301 et A3z 2,800 2,800 0
10 HALAHI 242 2,800 2,800 0
O3J1e1A S 2XAl HOIHEAL 20 A W24
70,0008 * 48 » 2 » 53 2,800
307 21201 A 85,000 160,000 275,000
04 QItHALE & 85,000 160,000 275,000
O3J1eA Z2EWMEL Fot
25,000,000 = 14 25,000
O3JIANESEE SEHEA XA
60,000,000 = 13l 60,000
402 RIZ2EXt20l ™ 60,000 5,000 55,000
01 RIZEAI 22X 60,000 5,000 55,000
O3J1eld ZHEM Qe s XA
0,000,000& = 14l 60,000
EAJIGUEHM(Z) 42,000 49,000 A7,000
< 18,000
Al 24,000
307 glz2+ol & 42,000 49,000 AT7,000
< 18,000
Al 24,000
02 QI2tF A8 X 42,000 49,000 A7,000
OS2I EH 3,500,000& » 129H 42,000
< 18,000
Al 24,000
22X sXsd 45,400 54,400 29,000
< 10,000
Al 35,400
22X =SXg2 22 10,000 20,000 A 10,000
401 AIEHI L 2 CHEI 10,000 20,000 A 10,000
01 A& HI 10,000 20,000 210,000
OZZ2A=Xag 2 A= WR=el & &M
10,000,000 = 14l 10,000
LsXg 22 7,400 6,400 1,000
201 Let2d] 1,400 1,400 0
01 At 22l 1,400 1,400 0
O:MEEAAY 2o H4&=E
70,000& = 102 = 23] 1,400
307 glz2tol & 6,000 5,000 1,000
02 QI2tF A8 X 6,000 5,000 1,000
Os&gs 2LX3 6,000,000& = 13l 6,000




2N

AHESHSE

3 NSZHELS (MY - BAING/MNHIE - DT
¢l 2k SASsd (&)
2 S 4
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
22 XsitS AU XA (Z) 28,000 28,000 0
< 10,000
Al 18,000
307 glz2tol & 28,000 28,000 0
< 10,000
Al 18,000
04 QIZHHALE = 28,000 28,000 0
O22 Xt sotsaJIa K&
28,000,000 * 13l 28,000
< 10,000
Al 18,000
=322 2 NAAF(AME=EX/ES) 1,970,365 1,891,847 78,518
= 535,812
| 131,431
& 157,611
< 347,106
Al 798,405
2322 & HHoHH 1,970,365 1,891,847 78,518
= 535,812
| 131,431
&2 157,611
< 347,106
Al 798,405
Heg @ HYgordE XI& 6,200 4,200 2,000
201 L2l 6,200 4,200 2,000
01 At 22l 1,200 1,200 0
OFYZZHEH SHOIX |RAE=HI
100,000& * 12& 1,200
03 A2 Z Hl 5,000 3,000 2,000
O=el - & otgol & Izl 5,000
— 228 - g+=%NHE & 2,500,000& * 22 5,000
S322MNE(E) 525,367 533,818 28,451
& 157,611
< 120,056
Al 247,700
101 14 bl 513,540 523,050 29,510
= 157,611
< 120,056
Al 235,873
04 JIZHHZ 2RSS 513,540 523,050 29,510
O3322Aeg 20X 92 2 AUHBE(2H)
3,170,000& = 162H 513,540
&2 157,611
< 120,056
Al 235,873
201 Let24d] 6,000 4,500 1,500




SN BHESE
B 2222 2 NUOH(AS=X/CE)
Sl 322 U MYOH (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 AP 22| d| 6,000 4,500 1,500
OZ2222ZAMY =8 294 (2H)
6,000,000& = {14l 6,000
202 04 d| 1,500 1,500 0
01 2Ll 1,500 1,500 0
OZ222Z2AY AIEHE H2H & 2UHHHI(2d)
20,0008 = 29 * 23| = 10& 800
OZ2222ZAY g 24 & 220H(2H)
70,000 * 2 x 53| 700
206 M = Hl 4,327 4,768 N 441
01 X2 Hl 4,327 4,768 N441
O2222AMY HaHI(2d)
4,327,000 = 14 4,327
SHOXHAAT ZNAEH(2) 4,214 4,200 14
= 3,371
Al 843
301 LBt A= 4,214 4,200 14
= 3,371
Al 843
01 Al E & A 452 4,214 4,200 14
SOQ AEASX MNHE=HA
2,107,0008 = 2H4 4,214
= 3,371
Al 843
NE2SH LXelAr (2) 508,969 629,442 N 120,473
= 118,441
== 117,158
Al 273,370
101 121 H| 345,100 377,790 A 32,690
= 118,441
= 117,158
Al 109,501
04 JI2ZtHIZ22NEES 345,100 377,790 A 32,690
ONABSHLT2AY HOX U3 U 404
ot 2,900,000& = 119& 345,100
= 118,441
& 117,158
Al 109,501
201 Bt 49d]| 29,109 40,052 A 10,943
01 AP 22| H| 29,109 40,052 A 10,943
OXNEZ=HLReAMYE =8 29
4,109,000& = 14 4,109
OXEZ2=HLRSAYE HHLXHE S
25,000,000& * 14! 25,000
202 o4 | 2,200 2,200 0




M ANBHEE
B 2222 2 NUOH(AS=X/CE)
Sl 322 U MYOH CEEEED
= (o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
01 = LH o4 1l 2,200 2,200 0
OXNGSsHENelAtd AHEEHE S 2UHA
=l 20,0003 = 2% = 53| » 43 800
ONATSHATIANY DS L 2442 218t
s 220l 70,000& = 2% = 103l 1,400
206 M= Hl 130,000 188,840 A 58,840
01 = tl 130,000 188,840 A 58,840
OXNgZSHLeAS HE7Y
130,000,000& * 14l 130,000
301 L2 A= 560 560 0
10 ALAHIZ A3 560 560 0
OXNESSHLNAY /TE SO 4
70,0003 * 2% = 2 « 23| 560
401 Al& I 28I 2,000 20,000 A 18,000
01 A& HI 2,000 20,000 A 18,000
OXNgZSH LAl At 2,000,000& = 14 2,000
MIHILHE MEINLH XJAE (=) 90,000 62,500 27,500
= 72,000
< 5,400
Al 12,600
307 21201 A 90,000 62,500 27,500
= 72,000
< 5,400
Al 12,600
02 QI2tF A8 X 90,000 62,500 27,500
OAg &I dS ALYl K&
90,000,000& * 14 90,000
= 72,000
< 5,400
Al 12,600
ASIEI LS LXelIFHEAN(F) 396,239 261,040 135,199
= 317,000
< 24,000
Al 55,239
307 21201 A 396,239 261,040 135,199
= 317,000
< 24,000
Al 55,239
02 QI2tF A8 X 396,239 261,040 135,199
OMEIAIIHE LAelEE ALY
396,239,000 * 14 396,239
= 317,000
< 24,000
Al 55,239
HEAFAANGFZA (L) 70,000 90,000 220,000
< 21,000




M ANEBHEE
HH: 2222 U NYAHE (NI /LE)
el BZ2E U XOHH CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 49,000
307 21201 A 70,000 90,000 220,000
< 21,000
Al 49,000
02 QI2tF A8 X 70,000 90,000 220,000
OHEZTAAMAX A 70,000,000& = 14l 70,000
< 21,000
Al 49,000
MHALXNAMEH 29X (&) 166,000 166,000 0
= 50,000
Al 116,000
307 21201 A 166,000 166,000 0
= 50,000
Al 116,000
02 2t M2 X 166,000 166,000 0
OFGXNJHH 2L X 166,000,000& * 14 166,000
< 50,000
Al 116,000
ANAMARNANGESH (Z) 6,642 8,400 AN1,758
< 1,992
Al 4,650
301 gEtE L= 6,642 8,400 A1,758
< 1,992
Al 4,650
01 MI2EZ X +06l= 6,642 8,400 N 1,758
OXNgaat s 2,213,670 * 39 6,642
< 1,992
Al 4,650
A EDIY XI& 700 700 0
201 -4 700 700 0
01 At 22l 700 700 0
OA2 &I S8233 32 H4&=E
70,000& = 5% « 23] 700
OISJIgsS8AE(3) 50,000 75,061 A 25,061
= 25,000
< 7,500
Al 17,500
307 glz2+ol & 15,000 25,000 A 10,000
= 7,500
< 2,250
Al 5,250
02 QIZtA A8 X 15,000 25,000 A 10,000
onsl1g =4 XN& 15,000,000 * 14 15,000
= 7,500
< 2,250
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 5,250
402 RIZ2EX201 A 35,000 50,061 A 15,061
= 17,500
< 5,250
Al 12,250
01 RIZEAI2E X 35,000 50,061 A 15,061
onsl1g =4 N& 35,000,000 * 14 35,000
= 17,500
< 5,250
Al 12,250
ANELESE dXNEEXNAL () 146,034 51,200 94,834
J| 131,431
Al 14,603
307 21201 A 146,034 51,200 94,834
J| 131,431
Al 14,603
02 2ItF & E X 146,034 51,200 94,834
OXEstsd dheldEsX&
48,678,000& * 34! 146,034
J| 131,431
Al 14,603
HUX =3HE (&Y - SAIS/HUEXLIHRANL) 620,300 377,987 242,313
= 212,412
< 190,131
Al 217,757
Xt 2 B2 620,300 377,987 242,313
= 212,412
< 190,131
Al 217,757
Ol A Xl e+ 2tg] 17,784 29,568 AN11,784
201 Let2d ] 6,185 5,220 965
01 At 22l I 5,745 5,220 525
OJtAotM 2te| 1,600
—E2&8H 50& = 20,0000H 1,000
—E2AEH 300& =+ 2,0000H 600
O0URX B2 s2dE 200& = 5,0000H 1,000
OSMAEAKRHME MM I +
1,000 » 5400 P & « 45 * 53] 1,080
OEANMIAZSSNARAZE A&+
70,000& = 5% = 23] 700
O=sMdEAJS &
70,0003 = 6H « 23| 840
OEAsZE T8 AM3Z 15,0008 * 35 525
02 =24l 440 0 440
OM&EHZ 2t0I3tE A EIIAEZ
20,000& = 123 240

_10_




2N
X ZH -
L= B

el

FNadsE
MUK =S¢ F (&Y - SAIL/NEHRLIAMNL)
Xt & B3

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OM&HZ 20ISFEARI 2L (BSFEHAE)
200,000& = 14! 200
301 et a = 1,599 1,599 0
12 JIEEd = 1,599 1,599 0
OlgR S SEIA AlE B 1,599
— LR 1,900 = 44 = 54014 = 23] 821
-3 8 1,800& » 44 =+ 540 + 23] 778
402 RIZ2EXt20l ™ 10,000 10,000 0
01 RIZEAI 22X 10,000 10,000 0
OAMEI A IFAANEER NE
2,000,000 * 5AICH 10,000
MDA EFE 2 O X 10,000 10,000 0
402 RIZFX201 A 10,000 10,000 0
01 RIZEAI2E X 10,000 10,000 0
OMEIDJI7 HEE e JHMALE XI&
250,000& * 400t 10,000
ATHHEMHUXES M (E) 307,000 222,800 84,200
< 168,200
Al 138,800
402 RIZ2EX201 A 307,000 142,800 164,200
< 168,200
Al 138,800
01 RIZERt2E X 307,000 142,800 164,200
O E100USES A (LBt=e)
1,700,000& = 400H £ 68,000
< 40,800
Al 27,200
Oels100ts B2 A (asgelXl)
5,300,000& * 3000 A& 159,000
< 95,400
Al 63,600
OHYIAHAZIANEES ALY
20,000,000& = 404 A 80,000
< 32,000
Al 48,000
ATHE U ES A (=) 265,516 0 265,516
= 212,412
< 15,931
Al 37,173
403 X SHHSA=0l& 265,516 0 265,516
= 212,412
< 15,931
Al 37,173
02 S| 2SO0l CHSHCH & A B 265,516 0 265,516




SN 2HESE
Ba: UT S F (MY - FAIY/HHNLTEINL)
aQ

Sl MUTE U BIMA (S &2)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 e 2
OMYUSIIAAEINSE ALY
204,400& = 1,299H 265,516
= 212,412
< 15,931
Al 37,173
MNYSIHAANEME(Z) 20,000 0 20,000
< 6,000
Al 14,000
403 UtXISHH S0l & 20,000 0 20,000
s 6,000
Al 14,000
02 BJ|2S0ll CH 8HCH & AF HI 20,000 0 20,000
OJNZMESZNUIIAHE XD (EHOIT)ES
A 50,000 =* 4000 2 20,000
< 6,000
Al 14,000
HEA(LEISZHY/UYBEHET) 50,739 46,943 3,796
< 18,689
Al 32,050
SAHZ A 50,739 46,943 3,796
< 18,689
Al 32,050
SHZAE & 2tel 11,360 9,080 2,280
201 £B-2%| 8,200 6,200 2,000
01 At 22l 8,200 6,200 2,000
OSAHHE &2t 2 C0 MAH 6,500
—SHHE L2t 30,000& =508 1,500
—CD M= 10,000& = 50074 5,000
OAZ SHZEA EEZ &
60,0003 * 54 * 43| 1,200
O2ET SHIZAM ZALE 24 R0l
500,000& * 14 500
202 Od4dl 2,880 2,880 0
01 = LH o4 4l 2,880 2,880 0
OSH XA bl 20,000& = 3 * 8 * 6 2,880
301 L2 A F 280 0 280
10 #ALAHIE A Z 280 0 280
OSHZADSETA B4
70,000 * 2% = 23] 280
NASHEANR ARATNA(Z) 39,379 20,104 19,275
= 18,689
Al 20,690
101 1A dl 8,779 7,239 1,540
< 3,793
Al 4,986




SN BHELSHE
HE: SHIAN (LTI /L)

Sl S E A (ol @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
4 D122 E2XREES 8,779 7,239 1,540
OMSHEAMZHSHZOF SE XA 5,880
— 32k 48,6703 * 198 = 27 « 0.75 986
= 296
Al 690
— ZARZt 2| A 48,6703 x 298 + 272 x 0.75 1,972
< 591
Al 1,381
— ZAX 22T
44 3803 * 198 = 272 « 0.75 899
< 270
Al 629
— e w e
44 3803 * 298 * 242 « 0.75 1,598
= 480
Al 1,118
— 4 EE 425,000& * 14 425
= 127
Al 298
OZHSE - SFAl ALSI X AL 2,899
— ZAr2 2l Xt 48,6703 * 2% » 14Y 1,363
< 954
Al 409
— 2= ¢ HERA 44,3803 * 3% » 11 1,465
< 1,025
Al 440
— 40 EE 71,000& = 14! 71
< 50
Al 21
201 LBt2E| 30,600 12,865 17,735
< 14,896
Al 15,704
01 At 2t 2l 30,600 12,865 17,735
OMHEA(ZBHEHZO0F SE XA 16,308
— ZAE 46,4602 * 182 * 262  0.75 16,308
= 4,892
Al 11,416
OZHEE - SFAl M XZA 14,292
— R AR 46,4603 * 108 = 20 9,292
< 6,504
Al 2,788
—E28Z2 5,000& = 1,0000t+ 5,000
= 3,500
Al 1,500
sESAAY (ZHEASE)(IIE/IIE) 97,554 96,258 1,296
JlE3l 97,554 96,258 1,296
JlE2&l 97,554 96,258 1,296




SN BHESSE
I AN AR (FMELSE)OIE/IIE)
S I

S BB (BH) - NRAY - BES il
201 et A | 22,674 21,378
01 AFR2t2ldl 22,674 21,378
O=sAIEX F¢ 13,000& = 18&8fA * 128 2,808
OSZ20Aadl 6,000& * 64! x 18H * 128 7,776
Ogbt44= 100,000& * 128 1,200
OAL7AR =AY 50,000& * 12& 600
O4LAR2 =4t 9,210
— 2AD #2(Ud) 1,000,000& * 1CH 1,000
— T2l %2 100,000 * 5CH = 50/100 250
—SAI EY 200,000& = 53] = 104 1,000
— D2 EU(E8) 200,0008 * 53] = 504 5,000
— D2 EUd(Zet) 200,0008 * 53 = 104 1,000
—PC =2l 100,000€ * 18CH = 20/100 360
— J|Et =2lH]| 50,000& * 12& 600
OJIEF AFR 22| 5,000& * 18¥ = 12& 1,080
202 (4] 69,480 69,480
01 2L Y| 69,480 69,480
OZHEH3E d2FX oyl 69,480
— ZHLH 04 B 20,000& * 1898 = 12 = 12& 51,840
— 2204 Hl 70,0008 * 18Y = 14 17,640
203 ¥R =&Y 4,200 4,200
04 ENSHELR=XH| 4,200 4,200
ORNM2IIRF&Y| 350,000& = 12& 4,200
204 XD 42 Y| 1,200 1,200
01 I HR2HA Y| 1,200 1,200
OXMIALAHAY| (B MELSIE R
100,000& = 19 * 12& 1,200




